rorzr— Foaz7—

boazr— rorzr—

TAMO02 TAMO1 TAS TAD 15'56001 JG:BDZ chaos JG;?HM chans m’éfm ’fl)f;ﬁx ’fﬁiSIE’ ’Ws’c;(;;;m ""’\582"" 7‘”7’?6‘2’”2 "rgz;ull. 7%?;;& 7;:3? IJ;;‘?L’/?:L‘M U;f“ljljlzrul Ué!ﬁ’/?&): 13?5015 Tsfgzm ?ETSE FVJ:;W;} ;J:TE;E c;g;;?gu cnvx;’sbg’fglzim ch‘g?s»;;x c’Rgg;}:QE o2 *?u‘;z Jub/s':rxl;c‘Ez 05
QD , A 4 : '
£0 €5 |
LAY > \ e
52 P wxt Fo bR Z 78| Hpeo | #4% WEYAZXZRYY a%:zﬁgx . rS1TT7— J&G SPS=ACIYX |RI+-= IVITISALIAR SUTISAL Javoz TR R—5— TLIT1RR SYAFA2R =
21V 1 =B 1X TAMO2 [ TAMO1 TAS TAD  [J6BYY=X| LU-221 | LH-015 | MCM $C025 W05 TC-02 | TC-10M | TC-09 | TC-05 [U#Li—01]y#)—02][U#)LN-03] TB-001S [ TB-022M | TB-08 [FunkwMc| FunkDDC | #m827Y | 4mza14b [4D2vvs2[s027717] D12 cup 06 05
cT H23/01- ZWA10 21HEXM12X1.5 54 | 5/100 | 18 - - 215/40-18 18 X 7.0 - - - - - - - 7.5048 48 - 48 48 - - - - - - - - - MELA Y FELISA VFRA
17 215/45-17 17 X 7.0+45 215/45-17 17X70 - - - - - - 48 - 48 - 48 48 50 48 48 - - - - - - - - -
16 205/55-16 16 X 6.5+45 205/55-16 16 X 6.5 - - - - - - - - 48 48 45 - - - - - - . . .
15 195/65-15 15 X 5.5+40 195/65-15 15 X 6.0 - - - - - - - - 42 45 45 - - - - - - - .
ES R3/8~ AXZH11 21HEXM12X1.5 60 |5/114.3| 20 - - - 20 X 8.0 - - - a 8.5J45 | 8.5J45 @ 8.5J45 - - 5 - - - ; : : - - - - . .
Y TPMSHI XTPMSE 19 255/35-19 19 X 8.5+35 255/35-19 19X 8.0 - - - - 45 45 - 45 45 8.5J45 45 - - - - - - - o o o -
235/40-19 19 X 8.0+45 235/40-19
18 235/45-18 18 X 8.0+45 235/45-18 18 X 8.0 - - - - - - 45 - 45 7.038 Ly} 40 38 38 70438 | 7.0438 Ly} 7.5J38 - - - - - - - - - -
17 215/55-17 17 X 7.5+40 215/55-17 17X 170 - - - - - - 38 - 38 - 4 38 38 38 38 38 38 38 - - - - s s s s 5 5
H30/10- AXZH10 60 |5/114.3| 20 - 245/35-20 20 X 8.0 - - - 8.5J45 | 8.5J45 - 8.5J45 45 8.5J45 45 - - - - - B . .
19 - - 235/40-19 19 % 8.0 - - - - 45 45 - 45 45 8.5J45 45 . . - - - - - B - . .
*TPMSE 18 235/45-18 18 X 8.0+45 235/45-18 18 X 8.0 - - - - - - 45 - 45 7.0J38 42 40 38 38 70038 | 7.0J38 42 7.5J38 - - - - - - - - -
17 215/55-17 17 X 7.5+40 215/55-17 17X 7.0 - - - - - 38 38 - 42 38 38 38 38 38 38 38 - - - - - - - -
16 - 215/60-16 16 X 6.5 - - - - - - - - - - 38 38 38 38 38 - - - - - B . .
GS H25/10- ARL10/AWL10 21HEXM12X1.5 60 |5/114.3 20 - F235/35-20 20 X 8.0 - - - 8.5J35 | 8.5J35 - 8.5J35 35 8.5J35 35 - - - - - - o o o
R 265/30-20 20 X 9.0 - - - 9.5J42 | 9.5J42 - 9.5J42 40 9.5J43 40 - - - - B B - - -
19 F235/40-19 F19 X 8.0+45 F235/40-19 19 % 8.0 - - 35 35 - 35 35 8.5J35 35 - - - a a a - -
Y TPMSKS GRL11/15/16 R265/35-19 F19 X 9.0+60 R265/35-19 19 X 9.0 40 - - 40 - - 40 - - - - - - o o
*TPMSE 19 235/40-19 19 X 8.0+45 235/40-19 19 X 8.0 35 35 - 35 35 8.5J35 35 - - - 35 38 - -
*GS200t/GS200t F SPORT 18 235/45-18 18 X 8.0+45 235/45-18 18 X 8.0 - 38 7.5J38 38 - - 40 38 - 38 7.0J+438 | 7.0J+438 - -
17 225/50-17 17 X 7.5+45 225/50-17 17X7.0 - - - - - - 38 - 38 - - - 38 - 38 38 38 38 38 38 - - -
GRS191/196 60 |5/114.3( 20 - - F 245/30-20 20 X 8.0 - - - - 8.5J35 | 8.5J35 8.5J35 35 8.5J35 35 - - - - - - - -
R 255/30-20 20 X 9.0 - - - - 9.5J42 | 9.5J42 - 9.5J42 40 9.5J43 40 - - - - - - - -
19 - F 245/35-19 19 X 8.0 - - 35 35 - 35 35 8.5J35 35 35 38 - - - - - - - - -
R275/30-19 19X 9.0 - 40 - - 40 - 40 - - - - - B . .
18 245/40-18 18 X 8.0+45 245/40-18 18 X 8.0 - - 35 38 7.5J38 38 7.0J38 4 40 38 38 7.00+438 | 7.0438 2 7.5J38 38 - - - - - - -
URS190 17 - 225/50-17 17X 7.0 - - 38 - 38 - 4 - 38 38 38 38 38 38 38 - - - - -
HS H21/07- ANF10 21HEXM12X1.5 60 |5/114.3| 20 - - 225/35-20 20 X 8.0 8.5J45 | 8.5J45 - 8.5)45 45 8.5J45 45 - - - - - - ; B B
19 - - 225/40-19 19 X 8.0 45 48 - 45 45 8.5)45 45 - - - 35 38 - - -
18 225/45-18 18 X 7.5+39 225/45-18 18 X 8.0 45 7.5J38 38 7.0J38 43 40 38 - 38 7.0J+38 | 7.0J+38 42 7.5J38 - -
17 215/55-17 17 X 7.0439 215/55-17 17X 7.0 - 38 38 - 42 - 38 - 38 38 38 38 38 38 - -
16 - 205/60-16 16 X 6.5 - - - - - - - - - - - 38 38 38 - - -
IS R2/11~ *F SPORT M14 M12X1.5 BK@EHR)L b+ 60 |5/114.3| 20 - F235/35-20 20 X 8.0 - - - - R R R R R R R R R R R
XTPMSE R 265/30-20 20X 9.0 - - - - - - . . . . . . . . . B
19 F 235/40-19 F19 X 8.5+45 F 235/40-19 19X 8.0 - - - - - - f B B B B B B . .
R 265/35-19 R19 X 9.5+60 R 265/35-19 19X 9.0 - - - - - - - B B B B B B . B
19 235/40-19 19 X 8.5+45 19X 8.0 - - - - - - - - B B B B .
18 235/45-18 18 X 8.0+44 - 18X 1.0 - - - - - - - - - 40 40 40 B B
Is H27/08- ASE30/AVE35 21HEXM12X1.5 60 |5/114.3| 20 - - 225/30-20 20 X 8.0 8.5J35 | 8.5J35 - 8.5J35 35 8.5J35 35 - - - - - - - - GSE31161 Y FAH
*TPMSE 19 - - 225/35-19 19 X 8.0 35 35 - 35 35 8.5J35 35 - - - 35 38 - - - - -
GSE30/35 18 F225/40-18 R255/35-18 F18 X 8.0+45 R18 X 8.5+50 225/40-18 18 X 8.0 - - 38 7.5J38 38 - 42 40 38 - 38 7.00438 | 7.00+38 4 7.5J38 -
H25/05- ¥GSE31 161 Y FAA 17 225/45-17 17 X 1.5+45 225/45-17 17X 70 - 4 - - - 38 38 38 38 38 38
16 205/55-16 16 X 7.0+45 205/55-16 16 X 6.5 - - - - - - - 38 38 38
Is H17/08- GSE20/25 21HEXM12X1.5 60 [5/114.3] 20 225/30-20 20 X 8.0 - - - 8.5J45 | 8.5J45 8.5045 45 8.5045 45 - - - - - - - - -
19 225/35-19 19 X 8.0 - - - 45 48 - 45 45 8.5J45 45 35 38 . - - - - - - - - - . -
Y TPMSHIS GSE21 18 F225/40-18 R255/40-18 F18 X 8.0+45 R18 X 8.5+50 225/40-18 18 X 8.0 - - - - 38 7.5038 38 - 4 40 38 38 7.0J+438 | 7.0+38 42 7.5J38 - - - - - - - -
17 F225/45-17 R245/45-17 17 X 8.0+45 225/45-17 17X 70 - - - 38 - 38 - 4 38 38 38 38 38 38 38 - - - - - -
IS-F H19/10- USE20 21HEXM12X1.5 60 |5/114.3| 19 - - F 225/35-20 20 X 8.0 8.5J35 | 8.5J35 - - 35 8.5J35 35 - - - - - -
R 255/30-20 20X 9.0 9.5J42 | 9.5J42 - - 40 9.5J43 40 - - - - a - -
19 F225/40-19 F19 X 8.0+45 F 225/40-19 19 X 8.0 35 35 - - 35 8.5J35 35 - - - - B B
R 255/35-19 R19 X 9.0+55 R255/35-19 19 X 9.0 - - - - 40 - o o - - - - B
18 - - 225/40-18 18 X 8.0 38 - - - - - - - - - - 4 7.5J38
LC H29/03- GWZ100/URZ100 21HEX M14X1.5 60 | 5/120 | 21 F245/40-21 R275/35-21 F21 X 8.5425 R21X 9.5425 245/40-21 21X 8.5 25 25 25 32 - - - - - - - - -
XTPMSE 20 F 245/45-20 R275/40-20 F20 X 8.5+25 R20 X 9.5+25 245/45-20 20 X 8.5 - - - - 25 25 25 32 - - - - - - - - -
19 - 245/50-19 19 X 8.0 - - - 35 35 - - - 8.0J+25 - - - - -
LM R5/12- TAWH15W 21HEX M14X1.5 60 | 5/120 | 21 - 245/40-21 21X 9.0 - - - - 35 35 32 - - - - - - - - - . .
20 - - 245/45-20 20 X 8.5 - - 40 35 - 35 - - - - 5 - - - - - - -
19 225/55R19 19 X 7.0+35 225/55R19 19 % 8.0 35 35 - 35 - - - - - 35 - - - - - a
17 225/65R17 17 X 6.5435 225/65-17 17X 6.5 - - - - - - - - - - 40 40 40 - B B
LS H29/10- #F50/#F55% 21HEX M14X1.5 60 | 5/120 | 21 - - F 245/40-21 21%X9.0 25 25 - 25 - 32 - - - - - B B
Y TPMSHHS *LS500h F SPORT R275/35-21 21 % 10.0 30 30 30 35 - - - - - - - - -
20 F 245/45-20 F20 X 8.5+25 F 245/45-20 20X 8.5 25 25 20 - - - - - - - - -
R275/40-20 R20 X 9.5+35 R 275/40-20 20X9.5 - 30 38 30 - - - - - - - - -
#F50/#F55% 60 | 5/120 | 19 245/50-19 19 X 8.0+25 245/50-19 19 X 8.0 - - - 30 25 25 - - 25 - - - - - - - - -
18 - 18 X 8.0 - - - 35 - - - - - - - . . B B
H21/10- USF41/42/45/46 60 | 5/120 | 21 F 245/35-21 21X 9.0 - - s s 35 35 32 - - - - - - - - - R R R R R
UVF45/46 R285/30-21 21X 10.0 - - - - - - - - - 35 - o - - - : : - - .
20 - F 245/40-20 20X 8.5 35 35 - 35 - - - - B - B B B
R275/35-20 20X 9.5 - 38 - 38 - - - - - - - - -
19 245/45-19 19 X 8.0435 F 245/45-19 19X 8.0 35 35 - 35 - - - - - - 35 - -
R 275/40-20 19X 9.0 35 o - - - - - - - - B B _ B _
18 235/50-18 18 X 7.5+32 235/50-18 18 X 8.0 - 35 5 5 5 - - - - - - - . .
H18/09- USF40 60 | 5/120 | 19 245/45-19 19 X 8.0+35 245/45-19 19 X 8.0 35 35 35 - - - - 35 - - - - -
UVF45/46 18 235/50-18 18 X 7.5+32 235/50-18 18 X 8.0 - - - B B B B B B B B B B
NX S TPMSHIS R3/11~ TSZA25/AAZA25 M14 M12X1.5 @RI b 60 |5/114.3| 20 235/50-20 20 X 7.5+35 235/50-20 20 X 8.5 - - - - 35 s . . . . - - - - - - - . M14 M12x1.5 BRE# b
AAZA20 18 235/60-18 18 X 7.5435 235/60-18 18 X 7.0 - - - - - 40 40 40 - - - - - - - o
NX H26/07- AYZ10/15 21HEXM12X1.5 60 |5/114.3| 21 245/35-21 21X 9.0 - - - - 35 35 35 - - . - B B B . - - . . . . B
Y TPMSHIS AGZ10/15 20 245/40-20 20X 8.5 - - - 35 35 - 35 35 8.5J35 | 8.0J35 - - - - - - - - - -
19 - - 245/45-19 19 % 8.0 - - - 35 35 - 35 35 8.5J35 35 - - - - - - - - - -
*TPMSE 18 235/55-18 18 X 7.5435 235/55-18 18 X 8.0 - - - - 38 - 38 7.0J438 43 40 38 38 7.0J438 | 7.0J438 4 7.5038 - - - - - - - -
225/60-18 225/60-18
17 225/65-17 17 X 7.0+35 225/65-17 17X 7.0 - - - 38 - 38 - 4 38 38 38 38 38 38 38 - - - - - -
RC H26/10- GSC10/ASC10 21HEXM12X1.5 60 |5/114.3| 20 - - F 235/35-20 20 X 8.5 - - 35 35 - 35 35 38 8.0J35 - - - - - - - - - -
Y TPMSHIG *F-SPORTY" -} R 265/30-20 20X 9.5 - 4 4 - 42 40 43 9.0J 40 - - - - - - - - -
19 F 235/40-19 F19 X 8.0+45 F235/40-19 19 % 8.0 35 35 - 35 35 8.5J38 35 - - - - a a a - -
R 265/35-19 R19 X 9.0+60 R 265/35-19 19X 9.0 40 - - 40 - o 40 o o o . . . B B B B B B
XTPMSE 18 - - - 18 X 8.0 35 - 38 7.5)38 38 - 42 40 38 - 38 7.0J+38 | 7.0J+38 42 7.5J38 - - - -
AVC10/GSC10 60 |5/114.3| 18 235/45-18 18 X 8.0+45 235/45-18 18 X 8.0 - - - - 35 - 38 7.5J38 38 7.0J+38 42 40 38 - 38 7.00438 | 7.0J438 Ly} 7.5J38 - - - -
ASC10 XTPMSE 17 225/50-17 17 X 7.5+45 225/50-17 17X 7.0 - - - - - - - 38 - 42 - 38 - 38 38 38 38 38 38 - - - -
RX R5/1- TALAL0/TALA15 M14 M12X1.5 BR@EHRIL b 60 |5/114.3| 21 235/50R21 21 X 8.0+40 235/50-21 21X9.0 - - 35 - - - - - - - - - - -
20 235/55-20 20 X 7.5435 235/55-20 20X 8.5 - 35 - - - - - B B B B B B B
RX H27/10- GYL20/25W/AGL20/25W 21HEXM12X1.5 60 |5/114.3| 21 - - 265/45-21 21 X 9.0 - s 35 35 - 35 - - - - R R R R R R R R R
20 235/55-20 20 X 8.0+30 235/55-20 20X 8.5 - 35 35 - 35 35 38 8.0J35 - - - - - - - - - -
19 - - 255/55-19 19 % 8.0 - 35 35 - 35 35 8.5J38 35 - - - 35 38 - - o o o o - - -
*TPMSE 18 235/65-18 18 X 8.0+30 235/65-18 18 X 8.0 - - - 38 7.5J38 38 - 42 40 38 - 38 7.0J+38 7.0J+38 42 7.5J38 - - - - - - -
H21/01- GGL10/15/16W 60 |5/114.3| 21 - - 265/40-21 21%X9.0 35 35 - 35 - - 8.0J35 - - - - - -
20 - - 265/45-20 20X 8.5 35 35 - 35 35 38 35 - - - - -
19 235/55-19 19 X 7.5435 235/55-19 19 X 8.0 35 35 35 35 8.5J38 4 - - - 35 38 - - - - - -
GYL15/16W 18 235/60-18 18 X 7.5435 235/60-18 18 X 8.0 - - - - 38 7.5J38 38 - - 40 38 - 38 7.0J+438 | 7.0J+38 4 7.5J38 - - - -
SC H17/08- Uzz40 21HEXM12X1.5 60 |5/114.3| 20 - - F 245/30-20 20X 8.5 - - @ o 35 35 - 35 35 8.5J38 35 5 - - - - - - - - B B B B
- R 275/30-20 20X 9.5 - - - - 4 4 - 42 40 9.5J43 40 - - - - - - - - - - -
19 - F 245/35-19 19x 8.0 - - - 35 35 - 35 35 8.5J38 35 35 38 - - - - - - - - - -
- - R275/30-19 19 X9.0 - - - 40 ® - 40 - @ 40 3 . . B B B B B B B B B _
Y TPMSHIG *TPMSE 18 245/40-18 18 X 8.0+45 245/40-18 18 X 8.0 - - - - - 38 7.5J38 38 - 42 40 38 38 7.0J+38 | 7.0J+38 42 7.5J38 - - - - - - - -
17 - - 225/50-17 17X 7.0 - - - - - - 38 - 4 - 38 38 38 38 38 38 38 - - - - - - - -
UX H30/11- UX250h 21HEXM12X1.5 60 |5/114.3| 20 - 245/35-20 20 X 8.0 - 35 35 - 8.5J35 3 8.5J38 35 - - - - - - -
UX300E 161 YFARe 19 - - 225/45-19 19X 8.0 35 35 - 35 35 8.5J38 35 - - - - - - R R R R R R
18 225/50-18 18 X 7.0+45 225/50-18 18X 175 - - 8.0J38 38 8.0J38 | 7.0J+438 43 8.0J40 | 8.0J38 8.0J38 | 7.0J+38 | 7.0J+38 | 8.0J42 38 - -
Ux200 17 215/60-17 17 X 6.5+40 215/60-17 17X 7.0 - 38 38 38 - 4 - 38 - 38 38 38 38 38 38 - -
XTPMSE 16 - - 16 X 6.5 - - - - - - 38 - - - 38 38 38 - -

B CORYFYIAMRBRMEZV - RA— A X2 BEIERLTVET XY F U I TS EROER-BHX- I L —F-HRICEDH A AN RLZBADBOET LRIV F U IR BETEEBLEE LTV,

* TIVH—-OUTIVRER




